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BREEEANS HEGSHH REELEHR BE
AR saanaran|TDRT HELE w lems| wE | mx | Re | ant | W |eEs| wE | mx | Rs | an [TN2ER
BHEEE BERLFERET RFRRFEFT 11 9 7 2 1 4 0 2 0 7 0 0 2 0 0 2 2
LR EE1SHERL) FHEREHER 12 12 2 10 0 2 0 0 0 2 0 0 0 10 0 10 0
BHEE ARNIEERISFER(LE) SRR ERH 16 16 8 8 3 4 0 1 0 8 1 4 0 1 2 8 0
LR ARNEE2S=VIRER(L) |=VRKRHER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BHEE EE6 T = R(L) IR & 10 8 3 5 0 1 0 2 1 4 5 0 0 0 0 5 1
LR &) A#R(E) NOFEMER 2 1 0 1 0 0 0 0 0 0 0 0 1 0 0 1 0
BHEE BERLERET AR ERF & T 9 5 0 5 0 0 0 0 0 0 4 1 0 0 0 5 1
At 60 51 20 31 4 11 0 5 1 21 10 5 3 11 2 31 4
NEXCOBR B A | REEE(L) MR R 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
NEXCOR B A |BSi#ti&E( L) HENER 5 3 3 0 0 3 0 0 0 3 0 0 0 0 0 0 0
A&t 5 3 3 0 0 3 0 0 0 3 0 0 0 0 0 0 0
NEXCOH H A | R4 =i&E(T) RS 23 7 5 2 0 4 0 0 1 5 1 0 0 0 1 2 0
&&t 23 7 5 2 0 4 0 0 1 5 1 0 0 0 1 2 0
#wast 88 61 28 33 4 18 0 5 2 29 1 5 3 11 3 33 4
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